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Q. P. Code: 37776

(3Hours) (Total marks 80)

Note: (1) Question No. | 1s compulsory
(2) Solve any three from remaining questions,
(3) Assume suttable data if required.

Q1.(a) Discuss scalability issue in MANET, 3 (5) |
(b) Explain multicast AODYV with suitable diagram. €, | (‘S)
(¢) Define in band, out of band and back up channel, (’i)
(d) What are the challenges posed to TCP over MANETS ? o P | "'.IFI(S)
Q.2 (a) Why there was need of Cognitive Radio? Explain IEE F802 22 w?ercnc; é‘chltccture
with suitable diagram. N :\‘ ~I _;1 ¥ ores 51v)
(b) Explain Zone Routing Prolor.,ol (ZRP) with suitable dldgramﬂff 3 {( O (10)
Q3. (a) What are the designing conmderatlons for Reutmg P;cft’oc:ﬁi;; WSN 2 (10)
(b) Name the MAC layer prowccls in W1re]ess sengﬁn-pqt%él"ks angi gxplam Self
Organizing - MAC protocol e KV **57'.*_1?-'5% ?—:-“;:f"' *;:_;_-'-{f:?- (10)
Q.4 (a) Explain the varlous asymmetry in a TCI’ bh;;g v\g;c'i;ss“(‘nobllc MANET. How these
ssymmetry problcms degrade Throughgut ki, & & RS (10)
(b) Explam Voronoi dlagram bascd Gm@ﬂwg@ﬁlﬂ&ﬁmple (10)
Q.5 (a) MGQUOIJ fe‘atures of Tmporaniy O%réeré% Reutmg AJgonthm(TORA)and explain its
helght me;nc wuh %ulh&e ex\imgle.-} W S O (10)
(b) Bxplam the LEACH ""j;_'_,'ntlm%grotacol in detall (10)
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